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2. Inthe Keynesian cross, assume that the consumption function is given by
C=200+0.75(Y-T)
Planned investment is 100; government purchases and taxes are both 100.
a.  Graph planned expenditure as a function of income.(4 %)

b.  'What is the equilibrium level of income?(3 %)
c. If government purchases increase to 125, what is the new equilibrium income? (4 %)
d. What level of government purchases is needed to achieve an income of 1600? (4 4~)

3. There are three people and two goods in an economy. The utility functions and initial bundles are

given below:

Uy = X11X12 w1 = (0,8)

Up=2Xr1FXon Wy (2,2)

U3=X31X32F+X3p W3= (8 O)

Suppose it is suggested that the three traders move to the allocation x given by
=(1,2), x2=(8,4), x3= (1,4)

a. Calculate the marginal rates of substitution for the three at the allocation x.
(Note: If the MRS’s are all equal, then x will be Pareto optimal.) (8 4-)

b.  Show that x makes no one worse off than the original allocation. (7 4)




